281y -RkERHRE

HYDRAULIC OPENER FOR MOTOR-POWERED DOOR

AR R THEAWEELS oI, ZHEAOHEIT
WYTEE S v v & —RUKERMBEEN RO - F— 7&-—
Hral ] RO THHEHHAE 2 X< BB EIN,

FRIC M55 ) TR B THERL T3 N,

To use this product in safety, be sure to read the catalogue of Hydraulic
opener for motor-powered door " Hydro-Opener " and "Instruction Manual"

before use.
Be sure to check the "Warning" and "Caution" in particular.

KERA vF HOS-01
Hydraulic switch

2K ARRIR

Water feed port nameplate

SHINSEI

M ROF=TF-
HOS—01

HYDRO-OPENER

Ay MF %EE iﬁuﬂﬁ

Ve

JFFEEREE HOI-40SA/DA
Emergency power unit

] =
Model

HOS-01

i - (S N £

Rated operating water pressure

0.30£0.05MPa

E O OF B Ok B

Rated operating water feed rate

4700 / minLl_tE

More than. 470 £ /min

~ F B ok

Non-operating water pressure

0.2MPaLlF

Max. 0.2MPa

ook E E 8

Water pressure resistance

BE0.7TMPaD k£ % 3 HfEIINA THKENAZL

No water leakage under 0.7MPa water pressure for 3 minutes

m Z: 1.3

Clearly specify which type to choose when ordering, because it varies from location to location.

HEXAIS50 A (91F60.5) DY A X T,

2. BCE(IANKAINA0A (511248.6).
EEHM—L I CTERBLES.
FEDIEIIERZBRREICCHERBEOEY,

The water inlet pipe and outlet pipe are of 40A (outer diameter 48.6) and 50A (outer diameter 60.5), respectively.

All the pipe fittings are also prepared by us.

Clearly specify the thickness of the wall to set in when ordering.

3. AT a3 ELTHMRINGE BEF 41 TbHYUET,

An external storage box (piping complete) is optionally available.

4. KERA v FOUREFEEL L VIFEERS
<IEEN,

Please ask our branch if Performance Evaluation Sheet for Hydraulic or Emergency power unit are required.

5. AtRZ CERICADHE(E. SHEMAMBEIE 2y hTIEALZS,
b Uit RBAMME CERICR DB (IRBOMEEZ R L MRET.

This product is required to be used with our (genuine) power operator in a set.
The performance of this product will not be guaranteed for its use with any other power operators.

KOICE, ZAK(S) ERLARX(N)DHY ET,
Notes: HIKICL > TRAYET DT, HIEDMRAREIC

The water feed port comes in two types; plug-in (S) type and screw-in (N) type.

CHETRENET,

KBOREENLERISSISEAEEMANBR LT

HBAER B D R B A

SET-UP REQUIREMENTS OF FIRE-FIGHTING FACILITIES

(REE%)

Set-up requirements

50m
H X = 150

Fire extinguisher

150m

B A EXR®

Indoor hydrant

1000m

ATV 05—

Sprinkler

B ® fE

Exhaust system

1000m

A E Unnecessary
IRBANE20 AL E
EI A

Emergency alarm

IRAEANEB0ALLE

persons

JERLANES Smoke detector
HRENZS Thermal detector

B m 2

Detector

AR Windowless floor
HEME Windowed floor

Accommodation for 20 or more persons

Accommodation for 50 or more

(BRA N5 HEEE)

Applied articles of the Fire Services Act
THBRERITREE105%
HAKERECETHEE
Enforcement Ordinance, Article 10
“Requirements for Fire-fighting

Equipment”
HBRERRITRE115%
ERHAERMEICETHEE

700m Enforcement Ordinance, Article 11
“Requirements for Indoor Hydrant
System”
HPLAIET S 2%

. ATV VoS —RIRICET 2 E%E
6000m Enforcement Ordinance, Article 12

“Requirements for Sprinkler
System”
JHBRERRI TR 85285

HHERMRICEYT 5E%

Enforcement Ordinance, Article 28
“Requirements for Exhaust System”
THBRERRI TR 8245
FFEERRCEATHIESE
Enforcement Ordinance, Article 24
“Requirements for Emergency
Alarm Equipment”
}ﬁﬁﬁ}fﬁﬁﬁ%ﬁzsx

ZEWmRIRICET 8%
Enforcement Ordinance, Article 23
“Requirements for Alarm System”

BEICTERAWEELS ZHIC

FOR YOUR SAFETY USE

A TIIKERMEES &6 ICHEAEDKEMAMEENERS

NdL v vd—YATARHLTH, BILREERERS

BB EEERICEZZATBUET,

YYD RTAD. A—EEBICEHLAEVGETHER

IREEICE SR VWL D, AEDIREICH L THAREREE B

FELNLET,

TRICKEAMEES LVEIKSREDO TETE - CHERADOED
2L L TEE] 2RBLTBYVETOT. #TEFYUL

ZE0N,

We have the “safety first” basic policy in designing and manufac-

turing our Hydro-Opener and related shutter systems.

You are strongly requested to take proper precautions for your sur—

roundings in the shutter system so as to avoid hazards in case of a

system failure.

Be sure to read the following WARNING and CAUTION instructions

that are important in selecting and operating the Hydro-Opener and
its attachments.

R TIECPRUKVER > IHAIC,
L | RrrBESLASTREEOSSC
= LERLTNET.
WARNING If the system is set up or handled wrongly, death

or serious injury may result.

TERRBIED /=8, TERDFBIEICHE > T ZE LN,

To avoid hazards, follow the instructions below.

O KERMEEORUMFICHI> T, A5 OTPERIE
HAEELSKHRATELLERLTSLEEL,

O ZOXKERMEBER>vyvs—FAEKETYT., OARE
ICIEHERFICERALENTSEE L,

O ZOXKERMEBEOIRMISEEG. EXHMFRMELE, H
Bhik ICHEML THI L T £,

O KERMEBEZAMBLAVEEBELREWTSESN, /=

BMUADIEET 2T a vHRUNADE&R(ZELY (572

nwTrEE N,

In setting up the Hydro-Opener, carefully read the catalogue and

handing instructions for your safety.

The Hydro-Opener is specifically designed for shutter systems.

Never use the Hydro—Opener for any other applications.

The Hydro—-Opener shall be instaled in conformity to the guide

book of electrical equipment and the Fire Servces Act.
Do not disassemble nor tamper with the Hydro—Opener. Nor

o O O O

B THECRURNER > LBHIC,
BELZAED . YHNEZEDORREED
HB_LERLTVET,

attach any extra components than our specified options.
If the system is set up or handled wrongly, personal

d3— =z
IE lé\
CAUTION
injury or property damaged may result.

BHBHLIEDZH, TEEDEIEZTFO> T LELN,

To avoid accidents, follow the instructions below.

O BRIEILITIEEEEHEANTHERL T LS,
O HAKERRER. COKETHAMEBEOERHEEAND D
DEFEALTLEE,
o) *Fﬁm EEIEHMNICEKRL. BEDOHIBEIIEE
?ﬁ% LT< 7:..3(:\0 Egﬂlﬁ*ﬁ(i/ﬁﬂﬁlfuaﬁ@ﬁ$ﬁgﬂ
Faﬁ§:‘5ﬁﬁw52¥ﬁﬁbf<fiét\o

Be sure to keep the supply voltage within the specified range.
Be sure to keep the load capacity of shutter operator within
the applicable range in the Hydro—Opener.

O Inspect the Hydro-Opener periodically. If anything unusual is
found, repair or replace.

Periodic inspection is referred to the inspection intervals mentioned
in the Fire Services Act.

OO




M BOA—TF—E VR

HYDRO-OPENER SET-UP DRAWING

IKIERA v FHERK

APPEARANCE OF HYDRAULIC SWITCH

1 r —
AKX
- ——H / //.\ \
f t... ~ "’ /7 /I /
— : ~  HERERE (FU19) -
i 7 E Steel conduit (nominal 19)
VA I
|
_— | . o
vy & —HlEEE / | MBERE (FFU25)
Door control panel i i . —
k I ‘ Steel conduit (nominal 25) HEkOEFAR
vy & — BRI } Water feed port
Shutter operator | BiFH100V X (2 =48 200V 50/60Hz nameplate
b 1 Single-phase 100V or -
{ " Three-phase 200V 50/60Hz Z*k0
1 I Water feed port
i
o KERA v F
I Hydraulic switch g~ ]
| ——ﬁ;t::i
|
LAY SR o F)/| — 0
Push button switch /] I OO %:
i — \ ____Q
| 0 -
{ FREREE
! Emergency power unit
{ [mm]
I |
IKFERA v FHHE Y
INSTALLATION OF HYDRAULIC SWITCH
ok OFRRHR Uiy g ¢
Water feed port nameplate Socket:nominal 1+
=k (65A) / . o
Water feed port (65A) A e A IS
Connection pipe:nominal 1+
TILARIEUT 5 IKERA v F
1 4 T Hydraulic switch

5

Elbow:nominal 1

TILARREN2

Elbow:nominal 2

/XA T U2

o/

Connection pipe:nominal 2

TI)LAR BER2

Elbow:nominal 2

/)
A
frp
65
ok

Uy bR 2
Socket:nominal 2
/M T U2

Connection pipe:
nominal 2

255 116
220 . 67
AKO LN $(40A) BRER RS
Water inle]t port: ; Conduit connector
nominal 13 (40A) \ | l
| o
<
® 2= 4 Jle
o
© R .
47}«1 REUN2 (50A)%Rﬁ7i 4—o12
Water outlet port: Mounting hole 4-¢ 12
nominal 2 (50A)
BRI N FE I ER :
VAN VG ETRY (7> 3)
APPEARANCE OF EXTERNAL STRAGE BOX Option
%7k O TR %’tkuf(GiA) t 294 365
Water feed port ater feeq por
nameplate 365 65A) 84 210 7 240
\ |
! ! / - & | S
| : 1 . ® |
) # = i
| \ !
‘ T T BEmAR | |
L FA ‘ $20
! 'M_U_L;,‘ l 4 Wire piping hole
| ‘ i -
| i fr H
0 P .
2 | el g
| L nn “‘%ﬁmgx4y%
@ ‘ Eg | Fvdrauiic
: Q ! switch |
i niNE
1 . % 7 |
| e | |
i T m_— [ s % \*f &
| o L] T BUA7R 4 — 12
e ‘ ‘ ‘ zi% Mounting hole 4-¢ 12
¢ J g ; SRS
‘ I ! | Back external strage box
i | L
N S0\ #k/A T2
I)I/TTK.IW.U\Z | 230 Drain pipe:nominal 2
Elbow:nominal 2 ‘ 300

XKOMERUINAR (CIIERAR E BB H Y F T

¥ External storage box comes in two types: flush mounted type and wall mounted type.

KOVERUERFR > 5 DHEK /A THTEIE. AR (L140mm,

FEHA (F240mmE ALY £9,

% The outward dimension of drain pipe from external storage box is 140mm in flush mounted type and 240mm in wall mounted type.




IR EIRRIE [Tk

EMERGENCY POWER UNIT SPECIFICATION

B

5% 18 MR

APPEARANCE OF EMERGENCY POWER UNIT

150}

e Model = HOIl— 2 5SA/DA HOI— 4 0SA/DA HOI— 7 5SA/DA
= 5 / = / BEO $20X1 BEEO $26X6
ol E E iﬁ-ﬁﬁasgo Hz 100V =7 S0 (572 2007 Piping_hole 25.40404040.40.40, Pioing hol HOI-258A/DA|HOI-40SA/DA|HOI-T5SA/DA
5 E B8 50 Hz 100V =48 50 Hz 200V 3 P S A [mm] 650 750
= Voltage Single—-phase Three—phase XO @ @ @ @ d Bl ~ 3575
H:II = ) = e ® Metal cap B [mm] 535
5 BB B OE 560VA 1070VA 1730VA _
g . V%ﬁt 34kg | 36kg | 47ke
Sl B A & M | 0.25kWLITOEEH 0.4kWLLF DB Eht 0.8kWLLF D EEhtk
jj Applicable load Motor with 0.25 kW or less Motor with 0.4 kW or less Motor with 0.8 kW or less
il = fSOoRE—TU o
System Transistor bridge Back mounting hole ;%EEEED
Gk - ack Piping hole
& % N2 — VN EES SEmMAN 250 . w|  150X35 155
. Type Small sealed lead storage battery 4-12 1 —
%z | R i a
g0® O B K DC 48V DC 60V DC 84V — G —
3 Rated voltage Erv5-minunsennn] (=) . /A R W
AN £ | 7.2Ah (12M7.0x4{E) | 7.2Ah (12M7.0X5f) | 7.2Ah (12M7.0X 7{&) R — 2E7Y 150
‘ng Capacity (12M7.0, 4 pcs.) (12M7.0, 5 pcs.) (12M7.0, 7 pcs.) } {'\& o ﬂ Jﬁ Metal cap
Tlx B om = RS ILFE — _=
Rech?ﬁging methodI Trickle charg? v (e} |
— e -
E 1% =STmEF5EL E 4
Rated More than 5 operations of 1-meter going—up < %
i 3% i 8 20MQ LI E (DC 500V)
Insulation resistance More than 20MQ (DC 500V)
i % 5] 7 AC 1500V 1% — — —
Withstand voltage AC 1500V 1min. - - | ] LT —
= A & m B —10~+40C OK#& - EZEDIZ NI &) 250
Ambient operating temperature (no freezing and condensation)
~F % (WXDXH) v
Dimensions 430X200X650 430X200X750 ‘L 430 1 200
E = [ 3
Weight = 34ke 36ke 47kg R . T
B 1. AT 3 ELTI AORBBREBT2ED v v 5 —EHNT 5 2 BB (DAFAT) 18 2
Notes: % U gzg—o |
A 2-gang selective system (DA type) is optionally available. Two doors can be opened with a single emergency power unit. + f&g
2. 28Dy —EEMTHBELWARTOBINE 2 BEMT 5N TEET, 400 BN 4- b7
n case of two doors, two operators to suit the applicable load are usable.

Bottom mounting hole

X —RITIEHEFITINEEBIMLZNTLSEZ LN,
UMD AEEER LB UEEMEDCRREE AV ET,

¥ Any other hole must not be added to the case to prevent trouble caused by cuttings which will adhere to printed plate board.




s

CONNECTION DIAGRAM

N1 vvs

No1.

—

door switchboard

®HOI-25SA/DA

FEEREKE
Emergency power unit

EHEACI00V
Single—-phase

50/60Hz

t—%
Motor

¢

Jaros
Protector

2

LS H]
USyhRA vF

e

el

‘ Limit switch

WLKRG VR v T

@

s

il

Push button switch

L & B
Common Open Stcicl_o_se

NQZ P //)'7 %'Jﬁll""E No2. door smtchboard

KERA v F
Hydraulic switch

YEiR. (55
Run signal

(653

XKD BHR S THEAERR (600 Vs E Z—)LiggERa L) AL
MIBIRE TRED

Cables marked with 3 are to be heatproof cable (600V heatproof-vinyl
insulated-cable or the like) and to be protected with steel conduit.

®HOI-40SA/DA
®HOI-75SA/DA

Motor

Jaro 4 :

Protector

LSH

US YRR vF |

‘ Limit switch |
P BULRY AT

= Push button switch

) i £ H [
Notes: Common Open Stop Close

2ERERA EDBE

2-gang selective system

No.1 v v & —HilfHaE
No1. door switchboard

HRTREE
Emergency power unit

=t AC200V
Three-phase

50/60Hz

-4
Motor

¢

Jaroy
Protector

. @!

LS H
Uy hRAvF

e

| <

E-

EE \.J‘
i %

Limit switch

HUARY D RA v F
Push button switch

| Common Open ctOD Close

N02 A /57 izl ﬁﬂ% NoZ door SW|tchboard

KERA vF

Hydraulic switch

Run signal

(x )
Notes:
KOBRRIITEELR 600V MZEE = — )LIGERRE) 2EAL
&ﬂiz EE.%J?'E‘?T{%HX D tc

Cables marked with ¥ are to be heatproof cable (600V heatproof-vinyl
insulated-cable or the like) and to be protected with steel conduit.

Motor
Jaroy ‘
Protector

5

YISy hRA v F

+*

b

E-\ E-fE-

]

Limit switch

IS ‘
Push button switch

=

Common Open Stop Close

2ZNMBERST E DS S

2—galng selective s;?s:tem

48 2 30 am BA

PACKAGE CONTENTS

(72 ax] SANERURERFEE 2 FEEREEHD
Option External storage box package Emergency power unit package
KERA v FHRE e R (152] (2E/)
Hydraulic switch package Pipe fittings package 1 OA A == Eidl For 1 door For 2 doors
2 2 X B oo HOI-25SA HOI-25DA
Flush mounted type Wall mounted type HOI-40SA HOI-40DA
HOI-75SA HOI-75DA
KERA T /N1 T SMBRUSHNFE FREREE
Hydraulic switch Connection pipe External storage box (pipe complete) Emergency power unit
o1 /27 0. 1A
% (L=EzE-21) S 2
Nominal 1% -t 1pc. S
L=(Wall thickness - 21) \
@2 e 14K
(L =209)
Nominal 2 - Tpc.
#ok0 L=(209) #ok0 ®t21—X 218
Water feed port .2» _________ 1 Water feed port Fuse ---2pcs.
X (L =EZE+50) @7 »h—RI)Lk (M10)
Nominal 2 - Tpc. j—.y |\ @%ﬁ- 4ﬁﬁ
L=(Wall thickness + 50) Anchor bolt (M10), nat, washer ---4sets
) X%igﬁilgll UE @ 2@
=AL X(E alaxzt %The length depends on ZAX XIF fUiAH Key ---2pcs.
Plug-in type or Screw-in type| the wall thickness. Plug-in type or Screw-in type Q@IULEHEAE 188
N — N N — Instraction manual ---1sheet.
POKORFR B E T PKORTIR _ N
Water feed port nameplate Pipe joint Water feed port nameplate Q@I =MHBEE 156
@ Installation manual ---Tsheet.
N 2 N (473>
o o Option

27

ALty b

Bolt set

@7 > H—HILk (MI0)
Fu b, Bt 44

Anchor bolt(M10),nat,washer

O+ —ILTSY
TFERMFERRQCM

Plug with cross-recessed
head wood screw

Oy 112" 1 Mg

Socket (nominal 1‘/7)“'1pc.

7

HAERRAY 72 MVERR (HOI-L1)

Reactor board for extended output cable

Oy 1fEl— - ‘
Socket (nominal 2 )---1pc. EE IR B E SR XHEHIEMI5MLL L & BI5RICER
PSS 1/2 » 1@ Pipe fittings Pipe fittings ¥To be used for output cable being over 15m.
Elbow (nominal 1"%)--1pc. HOI-40SA/DA,75SA/DAIZE A
. ¥Applicable for HOI-40SA/DA, 75SA/DA.
@I/LK2" 28| @=vFIN2" T2k |@FksA 27 1A [L00CE O
Elbow (nominal 2 )---2pcs. Nipple (nominal 2 )--2pc. Drain pipe (nominal 2 ) {7]-7:/ 3 */]
~-1pc. !
@I/LKR2” - 218 Ll Y Btlof ____________
Elbow (nominal 2 )---2pcs. BftE
Mount base
& g & s T -z PN
~ KB EREEZKICHET DI5EICER
¥ For Emergency power unit to be set on floor.
. . .Vjii}:?ftﬁidﬁz’irt i;;:]kf*pﬁlate --1pc. 71—:}'/ |‘JZ“j b
@ XkOFHAR - 147 Bolt set
Water feed port @ —I)7T—7T 1% .
lock-plate --1pc. Sealing tape “-1pc. @7 Hh—RILk (M10)
. — > b Eeft 44
./__)l/T_j C1E i 21 Anchor bolt (M10), nat, washer ---4sets
Sealing tape --1pc. Key--2pcs.
. @/ ANl (M6X20)
Oty bk Fu b EBEA 448
Bolt set Hexagon head bolt (M6X20), nat, washer ---4sets
CFUA—AIL R (MI0) v
Fo b B 488 &/t
Anchor bolt (M10), nat, washer ---4sets Battery package
CZRF UL RMAL BEi
M5 X 12 42’_( Battery
Stainlless screw (M5X12) ---4sets
F=NTST
. HOI-25SA/DA---48V
TEIRFERQCHS 448

Plug with cross-recessed head wood screw::-4sets

HOI-40SA/DA--60V
HOI-75SA/DA":-84V

KEMURDIZD, FPEESARDEEZS S EDBHYET.

Specifications subject to change for product improvement without prior notice.

KARFFHE SRS,

All rights reserved. No part may be reproduced or transmitted without permission.

MERBRII

SHINSEI SEIKI CO.,LTD.

1509001, ISO14001:8#IK7%

1809001, SO 14001 certification

5-08.10. 500©




	ハイドロオープナー_01
	ハイドロオープナー_02
	ハイドロオープナー_03
	ハイドロオープナー_04

